Gir=y=| EElES| R—L FITE= 7U—7 (B&FR)
1J10/6(%) 14:05 | A/ —Y2/\ExvY | vs | BERI-ILT>F>DIX [cna
2]10/7(B) 14:05 | ME/—Y2/\ERvY | vs [ BERI-ILT>F>D X [CNA
3J10/11(K) 19:05 FRT7ILELYORBB | vs | A/ Y /I\ERVY |E=HRE
4J10/12(%) 19:05 FRT7ILELWOZBB | vs | MHE/—YJ/\ERVY |E=#RES
5§10/17(K) 19:05 H>Ovh—-XEs vs | ME/—Y>/\ERvY (2EX
6]10/20(%) 18:05 | ME/—HY2/IN\ERYY | vs | SAZ>IET7—EM [CNA
7110/21(8) 14:05 | B/ —Y2/I\ERvY | vs | SAZ>IET7—@EM [CNA
8]10/24(K) 19:05 | ME/—HJ/\ERYY | vs HART LW IR CNA
9]10/27(%) 18:05 BWIzoz-X vs | BE/—Y>/\ExvY |ZLEL

10§10/28(H) 13:05 BWIzo>-X vs | BE/—Y>/\EXRvY |ZLEL
11J11/3(%) 18:05 ME—H2I\ERwY | vs |2ERIITES RRILT 1 >X|CNA
12)11/4(H) 14:05 ME—Y2II\ERWY | vs |2ERIITES RRILT 1 >X|CNA
13)11/7(0K) 19:05 FILIULIERR vs | BE/ Y /\EXRWY  |37)IIxIHR
14]11/10(%) 14:05 [#BBYAVESRRILI«>X| vs | A —T>2/I\ERYY [RL7Y
15J11/11(8) 14:05 [#BEBYAVESRRLI«SX| vs | A/ —F2/I\ERYY  [RIL7Y
16]11/17(%) 18:05 | MEA/—HT2J/\ERYY | vs | FEFILELYOIZBB |gekie
17]11/18(8) 14:05 | A/ —F2/I\ERYY | vs | FEFILELYOIBB |gefaik
18J11/23(% - %) |14:05 ME —52I\EXRVY | vs S —R—X=71 CNA
19]11/24(%) 14:05 | ME/—Y>/I\ERvY | vs > =K== CNA
20012/8(%) 14:05 R&/\>FU—-X vs | A/ —Y>)\EXRwY |fZ&IL
21)12/9(8) 14:05 &/ \>FU-X vs | BE/—Y/\EXRwY |fZaL
22012/12(7K) 19:05 ME—Y>)\EXxvVY | vs Yo OvhH—XER CNA
23112/14(&) 19:05 LI AdeiEE vs | BE/—Y>/\ExwY i@
24112/15(%) 14:05 LIS AdbieE vs | A/ —Y>/\EXRwY i@
25012/22(%) 18:05 | ME./—H/\ERwyY | vs FEZTYY CNA
26]12/23(8) 14:05 | A/ —HF2J/\ERYY | vs FESTYY CNA
27012/27(K) 19:05 AT LY IR vs | BE/—Y>/\ERvY |JL7Y
28]12/29(%) 18:05 | ME/—Y>/\ERvY | vs SERAATIZVIRX  |CNA
29]12/30(8) 14:05 | ME/—Y>/I\ERvY | vs SERATIZVIRX  |CNA
3001/5(%) FEER MBITLATB>H—-X | vs | BE—T>/\ERVY |£3x
31f1/6(8) fgdg | BT LAIH>F—X | vs | BEAJ—H2/I\ExvY [ee22
3201/16(K) 19:05 ME—T2I\ERVY | vs TILVULORR FNEER
3301/23(K) LI AdeiEE vs | BE/—YJ/\ERVY |itiEsr
3441/26(x%) ME/—T>)\ExwvY | vs | #EE— - JJLEET7—X |CNA
35)1/27(8) ME/—YI/\ExwY | vs | #RE— - JLEF7—X |CNA
361/30(K) MAE—T>)\EXVY | vs HART LY IR CNA
3702/2(%) H>OvH—-48 vs | BE/—HYJ/\ERYY |BIL%kER
38)2/3(H) H>OvH—Es vs | BE—HFJ\ERYY |B L%k
39)2/10(8) > —/R—X=1 vs | WA/ —Y/\ERwY (wals
4002/11(R) > —R—R =31 vs | A/ —Y>J/\ERwY (walS
41)3/2(%) ME —T2I\ERVY | vs RRTTTwH TR
4213/3(8) ME—T>)\EXvVY | vs ARTTTwH FAZ
43[3/9(%) WELAORF—X vs | A/ —YI/\ERWY oA
44]3/10(8) HELAIRF—X vs | BEJ—YJ\ERYY |9h)
4503/13(7K) MA—Y/\ExwY | vs LI\ AdEEE CNA
46[3/16(%) MHE—T>/I\ERvY | vs FILINVIERR 9=
4703/17(8) MHE —T>I\ERvY | vs FILIVVOER LUN
48)3/23(%) FESTYY vs | BB/ —HY2I)I\ERVY |5
4903/24(8) FEZTYY vs | A/ —Y2/I\ERVY [t
5003/270K) AT LY IR vs | A/ —Y>I)\ERwY |JL7Y
5113/30(%) TILIOLIER vs | BHE—Y2J\ERYY |37)II3IH
5213/31(H) FIVIVLIRR vs | A/ —YI)\ERWY |33
53)4/3(K) ME -T2 I\ERVY | vs FEZIVY SEEEch
54]4/6(%) ME —T2I\ERVY | vs Yo OvhH—XES A&
5544/7(8) A -2 /I\EXRVY | vs SOy hH—-X#ES EEER
5614/100K) FESIVY vs | BHE/—YJ/\ERvY |FE
57|FA%EH MHE —T>I\ERvY | vs LI HdGEE sEEth
Ys] Bikelas ME -5\ EXVY | vs LI\>HdbEE SR
SoffA%EH AT LY IR vs | BEA/—Y/\EXRwY |EEch
(o) EEELE AT LY IR vs | A/ —Y2/\ERYY |sEzEh




